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71.  Choose the correct option:

Rice is the --------- food of the Bengalis.

vA1) principal
(2) principle
(3) princepal
(4) prrinceepal

72.  Which of the following is not a synonym of the word |

(1) Captivating
(2) Pretty
(3) Repulsive
(4) Appealing

73.  Synonym of the word “Bliss” is:
(1) Inadequate

(2) Happy
(3) Fierce
(4) Polite

74. Fill in the blank with the correct option:
I --------- a play by Pinter.

1) am reading
(2) reading
(3) havereading
(4) hadbeen read
75.  Choose the word which means the following;
A remedy for all diseases.
§)) Insolvent
(2) Cure

J(3) Panacea
4 Physiology

«Attractive”?
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™ Choose the correct Meaning of the 1t
e of that i
Bewar at fellow. He 1S awolf in sheep’s clothi
 pation: § clothing.

alicised Ydiom:

(2) Hypocrite
) Completely insane
(4) Agile

7. hange the following Exclamatory sentence
How beautiful is the night!

(B, The night appears to be beautiful,
2) The night is very beautiful.
3) "lieautiful is the night.
4) Ni\ght seems to be beautiful.
78.

meaningfully wrong:

(1) The worst incident
(2) involved a staff member
—3) who went complete insane

(4) after about four days.

The sentence has been broken up into four parts. Choose the part which is grammatically and

79. The sentence has been broken up into four parts. Choose the part which is grammatically and

meaningfully wrong:

(1) For the young and the motivated
(2) in our country is lot of
(3) opportunities and promises

(4) of meaningful start ups.

80.  Fill in the blank choosing the correct tense form from the given options:
[ to call on you yesterday evening, but it rained.
(1) going
(2) was going
(3) were

(4) will be going

SEESR e E
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g1. Choose the correct P:

issive of the following sentence from the given Optiong,

- “hinet to state his views,
ister invited each member of the Cabinet

The Prime Min '
(1) The views of each member of the Cabinet was stated by t.h‘.: e Minister’s iny,
(2) Each member of the Cabinet was invited by the Prime Minister to state pjg View
(3) Views stated by the member of the Cabinet Was invited by the Prime Minigye,.
(4) The Prime Minister was invited to state the views by the member of the Cabing,

82. Choose the correct Active transformation of the given Passive:

There is no shop to be let.

1)
@)
3)

There is no shop to let.
Let there be shops to let.

Let me have shops.

(@)~ Shops are there to be let.

83. Choose the correct Indirect form of the following Direct speech sentence:

“We had better g0”, said she getting up.

)
@)
3)
@

She said getting up that they had better go.
She said in a hurry to go.
She said we must go better.

She said getting up to go that it was better.

84.  Choose the correct Indirect form of the following Direct speech sentence:
He said, “Oh! I agree!”

@)
)
&)
@

He said understandingly that he agreed.
He exclaimed oh that he agreed.
He said exclaimingly he agree.

He said excitedly he was agreed,

85. Change into Negative:

Well made movies always entertain,

)
()
3
C))

Well made movies do not enterta;p
Unwell movies always entertaip
Well made movies always ente rtain not

Well made movies never faj] ¢ entertain

[CG-22-BAH]
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Prepositig
n:

.\\ He will .remain _________ home ..
. 1) in unti] he jq tested,
.,(2) at
-3 for
\(4) by

g7. Choose the option that j
S
a one worq Substitution f
or the given phrase:

A\statement or propositi
POsition which :
'\ hich ig regarded ag being establish
‘ ablished, accepted, or self-evidently

1) Truism

2) Cliché
_—3) Proverb

4) Axiom

8g. Choose the prefix that meaningfully completes the sentence:

It was rather i
fair that I alone was asked to report early for the meeting

1 af
(2 uw—
.(3) dis—
@ in__

eaningfully completes the sentence:

89, Choose the suffix that m
memory as he can vividly recollect all that happened.

It seems he has a very photograph___

1 —
o e
(3) ._able
4) ___full
Jetes the sentence:

aningfully comP

%.  Choose the option that m¢
is the most 128

——

ting.
Our first impression 0f
(1) subjects
(2) project
(3) rejects

[Series —A]

(4) objects
19




91. Choose tl

Jin
ains the under
he option that best explam

. devil’s
The teacher always Jayed the devil

1)
2)
3)
)

92. Choose the option

Favour the weak

Present a counter argument

Be on the side of the administration

Embarassed the female students

that best explains the under

To throw down the glove means.

@
)
&)
C))

To accept defeat
To reject an honour
To resort to wrong tactics

To give a challenge

93,  Pick the correct sentence from the options given:

@
(2)
3)
C))

Nobody lives forever.
Nobody lives for ever.
Everyone lives forever.

Nobody wants to live ever.

94. Transform the following sentence into Assertive:

Could you give me a hand with this?

4y
)
3)
C))

He asked me for my hand.
He asked me to give him a hand.

He told me that T had better give him a hand

None of the above

95, Pick the correct option to fj] In the blank

When we were on holiday, ye Spent tog

ey
2)
3
@

: : 20

many
much
a few

some

«ned idiom/phrase:

advocate L0 provo

Jined idiom/phrase:

ke discussion in the Clags
RS




\, 96.

97.

98.

99.

" 100.

Choose the antonym of the word
or

ucom l 38 .
1) Composite plex” from the given options:

(2) Uncomplicateq
3) Uncompoundeq
4) Simple
Select the best option to fill in the blank:

(2) didn’tneed to
(3) hadn’t got to
4) hadn’t have to

Choose the correct Active transformation of the given Passive:

Notice was taken down.

§)) They took down the notice.
(2) Notice has been taken down.

(3) They will take the notice down.

4 None of the above

for the word “usual”:

Select the right prefix

(1) Ant

(2) Uni

(3) Ex

(4) Un |
Select the right suffix for the word “Jeon™:

1) i

(2) _—or

3) _ful

(4) __able /Series -A]
21
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